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COMPUTER SCIENCE
(Honours Generic/Regular)
For Honours Generic
Answer the Questions from any one Option.
OPTION-A
( Programming in Visual Basic/Gambas)
Paper : CSC-HG-4016
OPTION -B
(Information Security and Cyber Laws)
Paper : CSC-HG-4026
OPTION-C
( Web and E-commerce Technologies )
Paper : CSC-HG-4036
OPTION-D
( Computer System Architecture )
Paper : CSC-HG-4046
OPTION-E :
( Introduction to DBMS)
Paper : CSC-HG-4056
For Regular
( Computer System Architecture)
Paper : CSC-RC-4016
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION -A () The Visual Basic code editor will
Paper : CSC-HG-4016 automatically detect certain types of

€rrors as you are entering the code.
( Programming in Visual Basic/Gambas)

( Write whether True or False )
1. Answer any seven of the following

questions : , 1x7=7 §ﬁ T A T TS %@@?’T S

: TR TfETe R e
wero ﬁmmm%\mﬁm | o AN
(a) Who developed Visual Basic ? |

R (g) What is timer ?
ge @b @iw Rels ?

BIzNT 3 2
tands for .
(b) IDE stan (h) What is an empty value ?
(Fill in the blank) ) &
| Rl ?
IDER oY (q7x ———| i : :
‘ () What is null value ?
et o 3
(T IR o771 ) | Null value ¥ »
i ComboBox ? *
() What is a ComboBox () What is project file ?
I & 2
Awg FieA & o
(d) What is resource file ?
2. Answer any four of the following
W% | T 2 questions : 2x4=8
(e) What is Flexi grid ? et ft et st e e fa
@ﬁﬁw &9 (@) What is the difference between implicit

and explicit declaration of variable in

Visual Basic. Explain with example.
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(b)

()

(d)

(€)

(9)

iz el Sies sl B o Tutzad
o2 fal |

What do you understand by logical
operator ? Describe their purpose.

e s I 5 3@ 2 3w o
o |

What is the difference between static
and dynamic array ? Explain with
example.

& ui CiEAiT 9" g g [Fo
Tz 7 g@iis |

Give code to put an image on VB
form.

VB Ffe 9Bl 9 3iRat s

What is the purpose of status bar in
Visual Basic ?

o @fhee (@ T S & 2

What do you mean by function ?

Function 3 & g1«

List the main properties of label
control.

WW@%WW@@WI
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(h) List different types of DSN.

Rio 439 DSN wiffreige i |

Answer any three of the following

questions :

5x3=15

w8 WAl Rz fofanr ein Seg ol ¢

(@) Explain any five important features of

(b)

(c)
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Visual Basic.

fogEe @ Ricsprca Aoty el wafiey
AR 4

What is loop ? Write the syntax of the
following loops :

For ... Next, Do while ... Loop
T & 2 Wl oo armfRapm B e

For ... Next, Do while . Loop

What is error ? Discuss various types
of possible errors in VB. Also discuss

various types of debugging windows of
VB.

Error & ?VB@ﬁf\W@‘Hmerror‘ﬁ’
ﬁm%mwwaaﬁmwﬂf%ﬂﬁa
SR Rawe s =4

Contd.
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(d)

(e)

(9)

(h)
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What are data aware controls ?
Explain,

Yl e R s ? Nt 3 |

Explain the fojio

. wing components of
Visual Basic .

Tool Box, Project Windows

Called eyept driven
programming language ?

Y5806 6

4. Answer any three of the following questions :
10x3=30

oS Al Rzt bt e Sog f o

(@) What is the utility of menus ? What

are dropdown and popup menu?
Explain menu editor.

GFE Terifer & ? §AGICH WR: s{eretist
O 5 ¢ G Tl gt <sa )

(b) What are SDI and MD] applications ?
- Explain in detail.

SDI &% MDI est & ? Retoim 1w}
&fRar

() (i) Design ‘edit’ meny using menu
editor and write cod for options—
cut, copy, paste and delete.

] TS TR IR T o

1 fooi =v1 sk Rewpm @ T
| FlRa—=®, =&, o @ B

TG |

(i) Differentiate between option
button and checkbox with example.

Wﬁam&wqﬁmmm
N ot
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(d)

(e)

(9

(h

Define control array in VB with
example.

TR Bte VBS R7@d array W&o
=

What do you mean by dialog box ?

Explain various types of dialog boxes
in VB. .

et A o R Io 2 VB-© RivR 1o

AL IRFBAZ IR ]|

Create a VB application to maintain
students’ record.

QORI S Tz AR @6 VB
ST ToTR 7|

Explain looping statements with
example.

TR BICS i CETTOZ YT 5 |
Write a VB program to find the

greatest number from given four
members A, B, C and D,

A, B, CSIR D SiRem w159 of1 srifies sieai
Roifieeet <t VB eiam foray

—————
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OPTION-B
Paper : CSC-HG-4026

(Information Security and Cyber Laws)

1. Answer any seven of the following
questions : 1x7=7

S TS WA R et e ey fal ¢

(a) Define digital crime.
fesa wsimgm wgeat |

(b) What is session hijacking ?
SR QRTRR & ¢

(c)

is an application of
information  and communication
technology  (ICT) for delivering
government service.

(Fill in the blank)

5IFR Rl AR AR O e
CTINTAY Y& (SZo) ezl

(T 312 999 )
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(d) For Creating digital certificate only () By hacking web server taking control
Public key ig used. on another person’s website is called

(112 s hcther N Ise) as web (Fill in the blank)
%@Eﬁﬁmﬁmrﬁ: 2 (R BIOR (T TR W o @w2She Fagd
TR AR @R A I @R I R —
3 : )
TRR | =7 (st ¢ g T (T 12 999 1)
() What is Cryptography » 2. Answer any four of the following
@;C"ﬁmﬁ & questions : 2x4=8
?
wots Rl Rz sifsr em e o ¢
D
U] efine E‘Commerce_ () What do you mean by information
ES 2= e gy security ?
G O JF I & @ o

(b) What is security risk analysis ?
Faierer Rom Rosal &

(c) What is copy right law in cyber
security ?

B2 TS SRR wiEy [ o

(d) What are E-mail security policies ?

-0 I T B 0
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() What do you mean by disposal of
data ?

disposal of data 3fare 5 i e

() Define electronic warfare,

mﬁasmwml
(9) i

(h) What is SCADA 7
SCADA % ¢

Answer any three of the following

questions : cx3-15
oo B! 2ot . fr <
(a) What 18 dlgltal Contract 2 Explain
(b) Wha.t are . '
“world ? d ferent 1Ssues in the cyber
RR Riew R g

(@)

(e)

(9)

)
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What is public policy ? Name the
agreement opposed to public policy.

m%ﬁ?m%ﬁmﬁm
a7 :

How to secure information process ?
Also give examples.

o AfEFA @ Tofre R MR 2 T
i

What is the difference between
encoding and encryption ?

IR IR IF6AT oo w1y [o

Explain the role of information in
defence management.

&S IS AR B YT 3 |
Explain data protection act in detail,
O T Wi ResenR g 3

What are different buffer overflow
attacks ?

Rfen TR worE i & & o

Contd.




4.

RN =22

Answer any three of

) the following
questions :

10x3=30
wm&m%ﬁmmms

WWWW@% ?

What is backup security measure ?
™ 3 Ry ?

(C) What is cybe

Secure your

detail,

(b)

" Security ? How to
in

. formation » Explain i
::?%R Ty ? (O ey (apeeicss T8
S ? ﬁ@t\a@r@ RG] -
(d) Explajn

e . jon
detection SYster(:loncept of intrust

WWWC

|
|
|

(9)

(h
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(i) Security governance
atstet =vm
(iii) Malicious software
TP TR
(iv) Ciphers
BIRTH
(v) Hacking
RfF:
List any four web security threats.

Rt 5161 @ I SRRR SiftRge
|

Illustrate the firewall design principles.
Explain.

PRIRIE ferizn TSz Biee 3R e w1 |

Discuss different ways of password
cracking.

MR (< 339 Riow Toirr gt =1
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OPTION -C (c) Compare between traditional

Papér : CSC-HG-4036 commerce and electronic commerce.
(d) Explain the limitations of EDI.

Wi
( Web and E-commerce Technologies) (e) What do you mean by encryption

: d decryption ?
OWing questions : (any an
seven) 1 f 1x7=7 () Write the differences between B2C
(@) What is E-commerce 5 and B?G models.
() What is png » @ ghjt s 5 Ze:.au ?t .
n intelligent agent.
() What is gpy - () Explal 8 gen
(d) What ig dis 3. Answer the following questions : (any
(e) What ; otal token ? l three) S5x3=15
' URL ? | (a) Explain the architectural models of
() What s electronic cash ? B2B commerce.
(9) What ig IYPtography » (b) Define electronic payment. Explain
(W) What i y various activities which take place in
. the fy]) form of ISP ? ; the digital token based electronic
U] ‘ghat is integl'ated val - | payment system.
. “Commerc, 5 ue chain (c) Write the differences between
() What i SSL » ! Intranet and Internet.
2. (d) What are the customer effective web
?:::v)er the following Questions : (any design procedures ?
@ Expl; ox4=8 (e) Explain about web advertisements.
(b Plain B B Mode]. ! () Explain the pros and cons of online
) How p | shopping.

| (g) Explain how SSL protocol is used for
! secure transaction.
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OPTION-D

(h) Explain E newspaper and digital Paper : CSC-HG-4046/CSC-RC-4016

signature. ( Computer System Architecture)
the following questions : (any
4. Answer the followin : - lan 1. Answer )
three) g questions : {Oxg=30 seven) 1x7=7
(@) Explain the Security features in the (a) What is peripheral device ?
Implementqy;

on of E-commerce. (b) D stands for delay in D flip-flop.

i True or False
ternet Explain the role . ) > (True )
of Internet jp, E-commerce, How do | () What is register
We connect 1, the Internet ? (d) What is instruction cycle ?

() What are the Security challenges and (e) The BCD representation of (34)10 is
the protection, Measures available 10 , (Fill in the blank)
" electronjc Payment ? | .

(@)  Explaj | () What is micro operation ?

*Plain E"3°mmerce in India. What trol
© the Jeg > Social and ethical issU¢® (g) Name any two program contro
of E~cornrnerce ) Explain instructions.:

(e) DiSC’uS ‘

- lement of AND is
ChallenZeE SOVemnance, What are the (h) Comp

S in E-governance ? 5+5=10 (Fill in the blank)
0 Exp lain . . of ; ddress of the next instruction
. € wa eans (i) The a ‘ . b
protectin ine 5, 2nd m jons uted is available in

(Fill in the blank)
() Speakers can be called as a

(g) EXplain e

) lectror:: ?

advag detail  apout  the® peripheral device. (True or False)
ta, a
(h) Dis 88 an iSadvantageS- |
cu 9,
SS E-¢q Merce models in deta) - 3Bem-4/cBes) CSC HG 1/2/3/4/5, RC/G 19 Contd,
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2. Answer the following questions : (any - (¢) What is JK flip-flop ? What are its
Jour) 2x4=8 advantages over SR flip-flop ?

(@) State De Morgan’s theorem. (d) Compare sequential vs combinational

(b) Differentiate between latches and circuits
ﬂlp-ﬂops. (é) Write a sequence of instructions that
() What is decoder 7 will compute the value of '

d . y=x2+2x+3 for a given x using
@) Define min term and max term. three-address instructions.

(e} What do you mean by base of a |
number system | 0

(ﬂ What are the

Explain various types of interrupt
with example.
Phases of instruction

cycle ? @) 'What is universal gate ? Explain with
(9) What i | suitable diagram and truth table.
ot 18 addressing moge 7 | . .
. ) Explain the functional unit of a
" et o (e
3. Answer the fo)1qy; . following questions : (any
three) o 10W1ng Questions : (asn.t,:l3 _15 4. ?::e“;r the aae30
x — |

lean i | a) Describe one address and two
function | “ address instruction format with the
) 4, 8, 9, 10, 11, 12,13, 15).

F(W,X,Y,Z)= Z (0
. \ help of examples. Explain instruction
by using K-map.

Simplify

o) cycle with a diagram. S+5=10
USing K.m
ap, sj i i
CXpression ilr)l f;:::.p‘l,lfy- the f0.110w11’1g (b) What are different types of bus
F(4.5,6,0)uy ariables : | available in a computer ? Describe
+m2+m4+m5+m9+ mll+ml2+ m13 ! functions of each.
-4/CBCS, 5
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() What OPTION - E
at are multiplexer and de- '
;‘;1111;1111)lexer ? Why is a de-multiplexer Paper : CSC-HG-4056
thecd °d a data distributor ? Explain ( Introduction to DBMS)
'approeslfigrz ofad to 1 multiplexer with
tables, - Cireuit diagram and truth 1. Fill in the blanks : 1x7=7
' 2+2+6=10
(d) Discuss in detaj] } T SR RGN 2
Controller anq its about. DM[.\ (a) ———— is an application software
“ Ctionality. for creating and managing databases.
el E lai . |
tr?;'n:t{; ifferent modes of data o ¢ i software Rm
SIBIET create S (NS FI |

¢ Varioyg : :
detai], addressmg modes 1 () Record is also called as a

(@) Covert the fOHOWing ’ | Record ¥ e R =W
%) ’ | B
(ii) (1200'25)1° to binary | () The — identifies individual
(iii) 1010'01(2) to decimay tuples uniquely.
(iv) 76.27(10) © octa) | q 749% tuple @I FFSIE
25, |
| ®) to deg; ; e I |
(U) 1 _ °1mal |
0110(2) t0 octa ! (d) NF is based on full
W Explain ‘ functional dependency.

u . e des' :
SIng twq half ;gn of full adder | _  NFI (& full

truth tab iy
] at e (‘ﬁ]: gr?av;,n the functional dependency.
. Contd
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(e)

(9)

(h)

)

0)

integrity constraint states

that pnmary ke be
NULL. Y value cannot

P W?@ﬁ%ﬁ:ww w0

The deﬁnition
changed by y
Ccommand,

AW (5w ew qﬁﬁ'ﬁﬁﬁﬁﬁ

of a table can be

description -, Schema is a high level |
v 0 of the Whole database. |

mmé‘acmmw

_
alternate ke;ISaUSe of SQL speciﬁes

SQL 3
° ml\ W% alternate k€Y

Degr €e o
of fa Telation means the numbe’

N a relation |
aJq ﬁ.@l’il .
\aurl I =51 Rigepma© 3 |
3

|
|
|
|
|

{
VERI4s, e 2g |

3 Sen.
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2. Define the following terms : {any four)
: 2%x4=8

weTe fRAIARS e ¢ (Rt st )
(a) Entity and attribute

(b) Candidate key

(o DML

(d) Normalization

(e) Data independence

(0 Entity relationship diagram
(g} Derived attribute

(h) Relationship

3. Answer any three of the following
questions : 5x3=15
TS fral eMitARs e ot ¢ (R A6 )

(a) Briefly explain the characteristics of
DBMS.

DBMS ¥ MBI 5 It

(b) Give the steps to convert an ER
diagram into relational schemas with

example.
ER diagram I %4 relational schema [

ﬁﬁa@ﬁﬁaw«mwwmu

Contd.




|
| (e)
|

(9)

(h)

Explain the three SQL commands with

example that are wused to modify
database.

GOIR RIS SRt T cat RAH
SQL command Wizsay e [ 4|

Define JOIN operation. How is it
different from Cartesian Product
operation ? Explain with example.

What are the different types of JOIN
operations ?

JOIN operationq el fimy| PEFmm
¥ operation BT JOIN operation
(TR 492 IR Bie gy 1|
JOIN operation< Rfw srpmzam & &

List and explain th

€ end users of a
database.
(YOIRE @B end user 3 Sifert egw w591
% FIRG 9
Discuss the 3-schemag architecture
with diagram,.
e tite 3-schemg architecture Ra@
) (G117 = i

\
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